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Market/Segment atiractiveness
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list the factors you would consider when comparing the
attractiveness of segments

—

nerally fall under ine neadings of ‘growin raie’,
23310le segrnent size’ and *orofit potreniial’;

The:
‘ac
for example growth rate per year

size (money, units or both)

available profit (or a proxy for profit potential)

lock-in potential

pull-through potential

K220 i simple = idedlly 4 factors or less,
Mz sure your K2y colledgueas dre in agraerment.



Market/Segment atiractiveness

<4 1)

Make an 09 ;Jcir]/ dssessrnent of 2dcn segment’s
diircciivenass to your cornpadny odsad on crireric

relevant 1o wnat e orgdnisanion Is irying 1o deniave

1. list the factors you would consider when comparing the
attractiveness of segments

2. for each of the factors, weight their relative importance to
each other by distributing 100 points between them

Tnis is tnelr relaiive importdnce 1o your cornodny cdccording 1o
your owrn odrilcular recuirernenis;

for example growth rate per year 40
size (money, units or both) 35

available profit 25

Total 100

Mz sure your K2y colledgueas dre in agraerment.



Market/Segment attractiveness

drircciivenass to your cornpadny odsad on crireric

relevant 1o wnat e orgdnisanion Is irying 1o deniave

1. list the factors you would consider when comparing the
attractiveness of segments

2. for each of the factors, weight their relative importance to
each other by distributing 100 points between them

3. define high, medium and low parameters for each factor,
where very high scores 10 and very low scores 0

for example High (10-7) Med (6-4) Low (3-0)
growth >10% 5-9% <5%
size >£250m £50-£250m <£50m
profit >15% 10-15% <10%

Mdiz sure your ey colledgueas dre in dgreermeni,



Market/Segment attractiveness

Mdie dn oojecilve dssessrmeant of edcn segment’s
dirdciiveness 1o your cornodny odsad on crireric
relevant to wnart ne orgadnisanon Is rying 1o denizyve
1. list the factors you would consider when comparing the

attractiveness of segments

2. for each of the factors, weight their relative importance to
each other by distributing 100 points between them

3. define high, medium and low parameters for each factor,
where very high scores 10 and very low scores 0

4. work out the atfractiveness score for each segment using the
above to arrive at a total between 0 and 10

2grment ot d firne dand, oased on ine pdrarnziers
stermine Iis score for 2ach factor (using deata exirarnal
rJgJIJ/) muliioly mnese individual scores oy e weigni

g]v:—)n 1o Its respecilye fdctor (s22 2) and divide oy 100, inen

cele all thesz togeainer to drrive di o total veiweaz2n 0 and 10,
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Market/Segment attractiveness

14

Mdiz cn oojeciive dssessrment of edc stmen'f 3

diircciiveness 1o / Ur cornpdny ocsad on cri eru

relevant to wnart ne orgadnisanon Is rying 1o denizyve

1. list the factors you would consider when comparing the
attractiveness of segments

2. for each of the factors, weight their relative importance to
each other by distributing 100 points between them

3. define high, medium and low parameters for each factor,
where very high scores 10 and very low scores 0

4. work out the atfractiveness score for each segment using the
above to arrive at a total between 0 and 10

Factor Pararmaters Segment |
10-7 H-2) 3-0  Weigniing Score Total

1. Segment profitability >15% 10-15% <10% 40 b 3.6

2. Cyclicality Low Medium High 40 8 3.2

Total 100 5.8



Market/Segment atiractiveness

Mellce dn oojaciive dssessrment of 2dcn segment’s
drrrcciivensss 1o your cormopcdny ocdsad on crireric
relevant to wndt tne organisaiion is rying to dcnizve

Factor Pararnerers Segrment |
10-7 H-4) 3-0  Welgniing Score Toral
1. Segment size (millions) >£250 £50-250 <£50 15 5 0.75
2. Segment growth >10% 5-9% <5% 25 10 25
3. Competitive intensity Low Medium High 10 6 0.6
4. Segment profitability >15% 10-15% <10% 25 8 2.0
5. Vulnerability Low Medium High 15 6 0.9
6. Cyclicality Low Medium High 10 2.5 0.25
Total 100 7.0

A scorz of 7,0 would gznaradlly posiiion d s2qgmeant as ‘nignly diiraciive’,



Market/Segment atiractiveness

Mellce dn oojaciive dssessrment of 2dcn segment’s
510 Your cornodny ocdsad on crireric
yrdi e organisdiion 1s irying to denigve

Q
\/

O Size OO Growth O Profitability @ Competitiveness E Cyclicality

O = NN W Hh O 60 N

Segment1 Segment2 Segment3 Segment4 Segment5



Plotting the position of segments on the
Portfolio Matrix

rlighest score
rournided uo to
the next rlign
Whole nurnosr

Market/segment

Lowest scora

rouriclad doyrn
Low

to the next
whnole nurnoer

Phase 2 of the Segmentation Process



Company competitiveness

Esraolisn yoJr cornpdny’'s comopsinyenass in edcr

sagrner b 2c on now mne JngrJ fgar czlvas your

adollity 1o saiisiy melr neeads reldive 1o mne cormoeiinon

1. for each segment, list the needs they are seeking to satisfy
and note the constituents of the offer required to deliver each
need successfully (Critical Success Factors, CSFs)

Fror example Need CSFs

delivery reliability 295% as specified

leading edge image e-business; new products

price (cheapest) energy and material costs;
efficient production

10



Company competitiveness

Estcolisn your cormpdny's cornoeniiveness in edcr
J:‘J rment odsad on now e segment percalves your
dollity 1o sdiisiy mnelr nezds reldilve 1o me cormpeiiiion

—
°

for each segment, list the needs they are seeking to satisfy
and note the constituents of the offer required to deliver each
need successfully (Critical Success Factors, CSFs)

2. associate a weight with each need that reflects its relative
importance to the segment by distributing 100 points
between them

forexample Need weight
delivery 56
leading edge 33
price 11

Total 100

1



Company competitiveness

Estcolisn your cormpdny's cornoeniiveness in edcr
J:‘J rment odsad on now e segment percalves your
dollity 1o sdiisiy mnelr nezds reldilve 1o me cormpeiiiion

—
.

for each segment, list the needs they are seeking to satisfy
and note the constituents of the offer required to deliver each
need successfully (Critical Success Factors, CSFs)

2. associate a weight with each need that reflects its relative
importance to the segment by distributing 100 points
between them

3. setthe parameters for competitiveness, where very
competitive scores 10 and very uncompetitive scores 0

for example
highly competitive  (10-7)
competitive (6-4)

uncompetitive (3-0) 12



Company competitiveness

Estcdolisn your comodny’'s cornpeiiinyeness in 2dcn
segrmernt ¢ L) sad on now e sagrment perceivas your
aoility 1o sarisiy meir neads reladiive 1o e cormoeiinon

1. for each segment, list the needs they are seeking to satisfy
and note the constituents of the offer required to deliver each
need successfully (Critical Success Factors, CSFs)

2. associate a weight with each need that reflects its relative
importance to the segment (identified in Step 5) by
distributing 100 points between them

3. setthe parameters for competitiveness, where very
competitive scores 10 and very uncompetitive scores 0

4. work out the competitiveness score for your company and
for your main competitors for each segment using the above
to arrive at a total between 0 and 10

It's tne sdrme procadure as mdi used for working out d s2grnani
diiraciivenass score, mougn ne individual cornpeiiiivensss
scores for each CSF are as perceived by the customer.
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Company competitiveness

sraolisn your comopadny's cornoaiiiyenass in 2adcr
sagrnent odsad on now f'f = s2dgrment percelvas your
il

11
13

4

adollity 1o saiisiy melr neeads reldive 1o mne cormoeiinon
Segment 1: four cormpany  Corpeiitor A Cornpeiitor 8
J:—):—),JJ cnd melr associadiad

riflcal Succeass Factrors Welgniing  Score  Total Score  Total Score  Total

1. Product 50 6 3.0 9 4.5 4 2.0

2. Image 25 8 2.0 6 1.5 10 2.5

3. Service 15 8 1.2 8 1.2 6 0.9

4. Price 10 5 0.5 é 0.6 3 0.3

Total 100 6.7 7.8 5.7

Sasad on ine odradmaiars, detarmineg comosziilyanass scoras for 2der naad ds
ozrezlvad oy ine custornar, muliioly inasz individudl scoras oy ine waigni dnd divida
oy 100, inzn add dll inese togzinar 1o drriva di d totdl o2twa22n0 0 and 10,
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Company competitiveness

Estcolisn your comodny’'s cornpeiiiyeness in eJc:h
sagrnent adsad on now me segrment percaivas you
aollity 1o sdiisiy n2ir neads reldiive 1o ne CJHJJ)-—‘J’JJ’JJIJ

(L’

—
°

for each segment, list the needs they are seeking to satisfy
and note the constituents of the offer required to deliver each
need successfully (Critical Success Factors, CSFs)

2. associate a weight with each need that reflects its relative
importance to the segment (identified in Step 5) by
distributing 100 points between them

3. setthe parameters for competitiveness, where very
competitive scores 10 and very uncompetitive scores 0

4. work out the competitiveness score for your company and
for your main competitors for each segment using the above
to arrive at a total between 0 and 10

5. assess for each segment your own company’s
competitiveness relative to the best performing competitor

15



Company competitiveness

Esraolisn your compadny's cormoeiiivenass in 2adcr

segrment odsad on now e segrnent osrcelyes your

adollity 1o saiisiy melr neeads reldive 1o mne cormoeiinon
Segment 1: four company  Cornpeiitor A Cornpeiitor 8
Neezds and mneir associadiad
Crifical Success Factors Welgniing  Score  Toradl Score  Total Score  Total
1. Product 50 6 3.0 9 4.5 4 2.0
2. Image 25 8 2.0 6 1.5 10 2.5
3. Service 15 8 1.2 8 1.2 6 0.9
4. Price 10 5 0.5 6 0.6 3 0.3

Total 100 6.7 7.8 5.7

four comodny's ralailye comosziiiive sirangin is Your comodny’s Total dividzad oy ine
nigneasi Total of ine comoziltors 2xorass2d ds d raifo: 6.7:7.8 = 0.86:1.0



Plotting the position of segments on the
Portfolio Matrix
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Directional Policy Mairix (DPM)
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Market Shar

Products

Price

Promotion

==
=
=
==

Distribution

O

Invest
for Growth

Maintain

Manage
for Cash

Opportunistic
Development

Maintain or Increase
Dominance

Maintain or slightly
milk for earnings

Forego share for
profit

Invest selectively
in share

Differentiation

Prune less successfu
differentiate for key
segments

Aggressively prune

Differentiation
line expansion

Lead - aggressive
pricing for share

Aggressive
marketing

Broaden
distribution

Hold prices or Raise Aggressive - price fof
raise if possible share

Limit Minimize Aggressive marketing
Hold wide Gradually withdraw Limited coverage

distribution pattern

distribution

19



Portfolio Matrix for ICI Fertilizers

High

Low

Nelail/e cornoziny) ool ensss

rlign Low
Intensive
Grass
‘ Leading
Arable
Mainstre :
Arable / g;(gzaswe
\\/
Cheap
Brand .
Traditional Traditional

Price Dependentl

Market -
commercial
crop
nutrition.

Company -
ICI Fertilizers

Product -
Fertilisers
(chemical
manurel)

and supporting
services.
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The winners for ICI Fertlizers

Cheap
Traditional

Mainstream
Arable

Brand

Extensive Stock Traditional

Intensive Grass

Leading Arable

2]



Which led to a marketing strategy
focused on the most appropriate
segments with . . .

The old product range extensively tfrimmed and new products
launched

Services cut, and those remaining simplified
R&D re-directed into grassiand

Pricing aligned to segments (and not driven by the lowest
common denominator)

Promotional activity highlighting real benefits
Distribution logistics streamlined
A sense of direction for the company

And tney ozcdrme ine most orofircole
feriliser rmanuriacrurer in e world!
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